
Iluration :- 2.3O hrs G41?ODSi9 Maximum Marks : 75

Note: - All Questions are Compulsory

().1 Attempt the following questicns iA::1'Threei
ii. t,i,,L,,ur,l cxl;liri1It,t'<1iili','..:irt lr:;.1:rn1;ir;1lt; ntltttli<.rns r'tsecl in clata stt-t"tc1-Llrc''r

l.i. \\rlrar is br-Llrble sori'l sort tlie liillorvinil ilarttr iLcrns using br-rllble sort methocl

;l'{' '13. 20' 15' i0'
t].\\,riltlarrirlgoritlrtrr[brstlilr<:lritrgiltclt;ltlnrc:trtttreirr:ry
cl.lixillirirlpr.irnitir,cittltlttrlt:1--lt.irlritir,tlditli-lst'r'ttctltrc
er. whirt i" 

"1rr.,r"., 
rnillrix'/ Bxili irr clil[Crcrtl ways of represcnting sparse matrx

irl l t.r in,'/ rn

f. \\rlrirt irre the chlli:rcni oltertrtions; lirnt uln ire pcribrrnecl on clerttr stlLlcl-urc:.'

().:1. Attempt the following questicns (Any Threei

ii. Wlrat i:; linkccl list? Explrtin its i)/1)os*

lr \vritc ,, trlgoritlt,r 1t.r iirscrr ..r,r, cl.ntrrrrL in single linked list
(:. \vl,tL is cirr:uiiil' linl<t:cl list? ll<;rv to tt'iitrt:t-se a circular linkecl list?

ci. l,x1)]a1r] h.(lrv t;ne lirll<ec1 list is coiliecl l-r; irnotlter linl<ecl list',
(].lJrlllirirrclillercrltcitlcgoricstll.lrc,adct-irrrkecllist
l-. ux,1.ir-r how rrrclrlor)r rs r.r11ocil1 cci atrd ilcallclcartcd for linkecl list''

()-:1. Atternpt the following questions {Any l'hree)
11. writc r;1-rorl nOt.c: <ln clt>utlllc ctttlt'tl pr-iorit.\' qu'cLlc'

5. \,1,hat rs s1.ck2 ilsplain clil'ter-r:Lrt lri'rsit: opclatiol-ts pcrformed on thc stack '
(].\\.ritc-.stcpslorcrlnt,C:ttir-rgprlstllxt<lrrrlixc,rilressior-r.
tl Writt: irn .1g.'1 hm to jr-r*I,ir r,rnrl clclctt: it lloclc lrom ar circtiiar qu'el1e'

(:r. Exlllittt'i rccttrsion u'ith criurillc'
l. i:r'l.rllrirl prioritl' tpl(lLl c utitit t:riiLrli.ricl '

(i.4. Attcmpt the itllowing questions {Any Three)

ir. l.it:.,r:,rrs LlLr:t l;ir-urrv trec: u,l'rost' in t:rrlt,r"iit:c1 prc-tlrcler traversals etrc:

Itr-()tcLct-tl;ltrcrsrll : g; cl il h t' j r'r I't:

l'tc-Orcit:r trtrlrct'stil : a ll ri g c )' r c I'

lt. \\/r-i1c short notcl on :-:l rr,,(i*. ]i-'illliritt lrr:ur 1O inserl ClCment tn2-3 tr-ecf

(). ll)r111i.rirr tttscrlitrt-t strr.t itlgt>t.illrrit lil l;tlt t lilllorving clclncnts.

7 6 10 ) :l | 12

ci. Whlit is irillarv st-:ttt-cll tt-cc t:onstnicl i:lSl'f 1br the 1ollor'ving: c

20. l:1. r'2. 10' 15, 18' 40':15' 55'

(].1!-rlllairialgoritl'rrrrlbrir-rscrt'itrgttocleirlReci-Blacktree.r
f.lirplairritltlr-clcr.atlclprctlt.(-lr:rlt.arlc:t.strltl[.l-iretree.

pt the following questions (Any Three)

i)c,s..,r.i l;c rrErr-i oLr s co Llisi ort rt:sol rl1 i otl 1 ct:h t-LiclLICS' I

\\,irut is ()r-trph'/ llxplair-r c1-ircr<.:tcri ttncl rtnclirccttlc'1 gr:rp]-r'

ll.rplrrin s1'litllrling lrcc u'ilh c-r;itlt1:lt'' t

Li.rplrtir-r rhfl" hasirrrtg tilctltotls' 7

li'.irf ,,r," Dill<sti ti's slrortcst 1>a(lr irlgol-illirri rvith eg'

Whirr is a.cljarccnc-\' rlrlrtrixl (lcncrtitt: titijtLcency matrix for the follorving

ut irltt't't tt'cl grlrPlt
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